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Shivaji University Kolhapur

B.A. I

Nature of Question Paper
Paper No.- I & III & 1.D.S.

(Nature of Question Paper of 80 : 20 Pattern )

March- 2010
Section —I
Q.No.1 Multiple Choice 05
JEUART g
Q.No.2 Write Short Notes 15
rSEITd ST foraT.
(Any three out of Five)
Q.No.3 Answer the following questions. 20
(Any two out of three)
Section —I1
Q.No.4 Multiple Choice 05
Q.No.5 Write Short Notes 15
(Any three)
Q.No.6 Answer the following questions. 20

(Any two out of three)
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Philosophy (optional) Paper-I1
Ethics (Indian and western)

decasia (UBd) TuR—3
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Philosophy (optional) Paper-III
Social and Political Philosophy

THIS (TRUTRE THIATH) TIR— IS0,
Logic (Traditional Logic) Paper- 1.D.S.

qHeTE (JMYMH THIATH) UIR— AT SILTH.
Logic (Modern Logic) Paper- I.D.S.




Nature of question paper 80 : 20 Pattern

B.A. (Part-IT) Examination
Philosophy (Optional) Paper-I11
Ethics (Indian and western)
March-2010

Total Marks : 80

Instructions :

1

All questions are compulsory

2

Answer to the two sections should be written in one answer- book

3

Figures to the right indicate full marks

Section — I

Marks

Complete the following sentence by choosing Correct
alternative
[One mark for each sentence]

05

Write short answers of the following questions
[Any three out of five]
[Five marks for each question]

15

Answer the following questions fully
[any two out of Three]
Ten marks for each question]

20

Section — I1

Marks

Complete the following sentence by choosing Correct
alternative
[One mark for each sentence]

05

Write short answers of the following questions
[Any three out of five]
[Five marks for each question]

15

Answer the following questions fully
[Any two out of Three]
Ten marks for each question]

20




TG — 2010
URUT 0T
— 80

T =

1) | 99 U39 AMaTIH TR

2) |l Tl SR Udrd ScRdad folgl.

3) | Sordibelel 3fd Yo [T geifaard.

favmT afger

1) | IFg 9 MasA et faem™ qur e, 05
[IADhT Th T ]

2) | GTelldd Ul AeddTd 3y [ofal. 15
[qra YT ] (YT 5 T[07)

3) | @ETelld Wl AfdwR S forgl, 20
[ YT <197 (U@t 10 701

4) | g vy AT @reile faum goi &, 05
[IADhT Th T ]

5) | Welldl YAl AISdITd Iy [ofal. 15
[qra YT ] (YT 5 T[0T)

6) | ETelld UeAdl AfdwR Sy folgl, 20
[ YT <197 (U@t 10 701
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B.A. (Part-IT) Examination
Philosophy (Optional) Paper-III
Social and political philosophy

March-2010
Total Marks : 80
Instructions :
1 All questions are compulsory
2 Answer to the two sections should be written in one answer- book
3 Figures to the right indicate full marks
Section — I
Marks
1. | Complete the following sentence by choosing Correct 05
alternative
[One mark for each sentence]
2. | Write short answers of the following questions 15
[Any three out of five]
[Five marks for each question]
3. | Answer the following questions fully 20
[any two out of Three]
[ Ten marks for each question]
Section — I1
Marks
4. | Complete the following sentence by choosing Correct 05
alternative
[One mark for each sentence]
5. | Write short answers of the following questions 15
[Any three out of five]
[Five marks for each question]
6. | Answer the following questions fully 20

[Any two out of Three]
Ten marks for each question]
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[qra YT ] (YT 5 T[0T

15

WTellel ATl Ffaay Sy forar.
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B.A. (Part-IT) Examination
Logic [Traditional Logic] Paper-1.D.S.
March-2010

Total Marks : 80

Instructions :

1

All questions are compulsory

2

Answer to the two sections should be written in one answer- book

3

Figures to the right indicate full marks

Section — I

Marks

Complete the following sentence by choosing Correct
alternative
[One mark for each sentence]

05

Write short answers of the following questions
[Any three out of five]
[Five marks for each question]

15

OR

a)

What inference by opposition of propositions can be
drawn from the following proposition

[Any two out of Three]

[Four marks for each proposition]

08

b)

Test the validity of following inferences.
[Any two out of Three]
[3 1/2 marks for each proposition]

07

Test the validity of following arguments
[Any two out of Three]
[Five marks for each question ]

10

b)

Test the validity of following arguments
[Any two out of Three]
[Five marks for each question ]

10

OR

Answer the following questions fully.
[Two out of Three]
[ Ten marks for each question]

20




Section — 11

Marks
Complete the following sentence by choosing 05
Correct alternative
[One mark for each sentence]
Write short answers of the following questions 15
[Any three out of five]
[Five marks for each question]
Answer the following questions fully 20

[Any two out of Three]
[Ten marks for each question]
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20
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B.A. (Part-II) Examination
Logic [Modern Logic | Paper-1.D.S.
March- 2010

Total Marks : 80

Instructions :

1

All questions are compulsory

2

Answer to the two sections should be written in one answer- book

3

Figures to the right indicate full marks

Section — 1

Marks

Complete the following sentence by choosing Correct
alternative
[One mark for each sentence]

05

Write short answers of the following questions
[Any two out of Three]
[8 »» marks for each]

17

OR

Use truth table method to decide whether the following
statement forms are tautologies, contingent or
contradictory.

[Any three out of Three]

[ 3 marks for each ]

09

b)

Use truth tree method to prove whether the following
propositional forms are tautologies,

[Any two out of three]

[ 4 marks for each ]

08

Construct formal proof of the following arguments.
[Any one out of two]

06

Use Conditional proof to prove the following
arguments.
[Any one out of two]

06

Use indirect method to prove the following arguments.
[Any one out of two]

06




Section — 11

Marks

Complete the following propositions by choosing Correct 05

alternative

[One mark for each sentence]

Write short answers of the following questions 17

[Any three out of Three]

[8 »» marks for each]

OR

a) | Using appropriate quantifiers symbolize the following 09
propositions with the help of notations given in the
brackets.

[Any nine out of ten]
[ One marks for each ]

b) | Use the method of conditional proof or indirect proof to 08
prove the following are tautologies, or interchange the
universal and existential quantifiers in the following
using the rule of quantifier negation.

[Any two out of three]
[ 4 marks for each |

a) | Symbolise the following quantified arguments using 04
notations given in the brackets and construct formal
proof .

[Any one out of two]

b) | Construct formal proof for the following quantified 04
arguments.

[Any one out of two]

c) | Test the validity of the following syllogisms by Venn 10
Diagram.

[Any two out of three] (Five marks each)
- | Write short answers of the following questions. 18

[Any three out of five ]
(Six marks for each)
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